
Correction & Scoring of the Second Term Exam (May17th,2023) 

I. Read the following items and tick the correct option: A, B, C, or D. Do not tick TWO options.  
Each correct item = 0.50; Total = 05 Key: 1= C   ; 2= B   ; 3= A; 4= B   ; 5= A  ; 6= A  ; 7= A  ; 8=A   ; 9= C  ; 10= C.  
II. Mark the primary stress in the following pairs of nouns and verbs. 

Each correct item =0.25; Total 2.50 

Key: 1. to con’duct  -  ‘conduct    2. to de’sert   -  ‘desert    3. to sur’vey  - ‘survey     4.to tran’sport  -  ‘transport   

 5. to con’vert   - ‘convert    6. to con’test  - ‘contest    7.to  es’cort   - ‘escort       8. to de’sert   - ‘desert                          

9. to su’spect –‘suspect         10. to re’bel   -   ‘rebel 

III.Put the secondary stress on the appropriate syllable in the following words: 
Each correct item = 0.25 ; Total = 1.50 
Key: /ˌæsəˈteɪn/; /ɪˌvækjuˈi:/; /ˌædvənˈteɪdʒəs/; /ˌdemənˈstreɪʃn/; /ˌkɒntɪˈnentl/; /kənˈvi:nɪəns/ 
 
IV.Which meaning is expressed in the sentences from 1-7? Match the sentences from (1-7) with those from 
(a-g) to find out the appropriate meaning. 
Each correct item = 0.50 ; Total = 3.50 
Key: 1= d  ;2= g ; 3= f ; 4= e ; 5=a ; 6= b ; 7=c   .      
V.Re-write the following sentences by classifying them according to their stress patterns in 
the table below. (One sentence is odd) 
What was his name?; Don’t you like it?; What’s the time?; It’s cold and wet; You’ve met them; 
He’d give much more; Don’t break it; Pleased to meet you; Yes, of course; Where do you live?; I 
like it; it’s time to go; who did it? 
Each correct item= 0.25; Odd sentence=0.50; Total = 3.50 Pattern 1 Pattern 2 Pattern  3 Pattern 4 Pattern 5 Pattern 6 -what was his name?   -Where do you live?              Don’t you like it? Pleased to meet you. -What’sthe time? -yes, of course. -It’s cold and wet. -It’s time to go. -You’ve met them. -I like it. -Don’t break it. -who did it? 
VI. Decide whether the tone is rising or falling in the following utterances. Use arrows to ilustrate your 

decision and attempt to JUSTIFY. Each correct item= 0.50 ; Justification=0.50 ; total=04 

1.  What time shall we leave?          (Falling) Wh. Question.              

2. A: At last he did it. (Not to be counted) 

   B: Really !          (High-rise) or (Rising) Disbelief or Surprise.         

3. A:Would you mind open the window, please?         (Falling) Auxiliary question. 

   B: For sure.  (Not to be counted) 

4. Her parents never mind their children’s affairs.         (Falling) Proclamation.   


